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~ GLYCOLYSIS AND FERMENTATION

VOCABULARY REVIEW Define the following terms.

1. cellular respiration __BIOLOGICAL PAMWAY THAT BReAKS DOWN SLOAR.

TO forM KTP

2. glycolysis _BREAKS LowN GUXGSE To FoRM  ATP AND PYRUVATE (To BE GSED

AN KRERS cycu)

3. lactic acid fermentation _CONVERSRN oF PyruVKIE To LACTIC ACID < AUDWS

CONTINUATION) OF GLYCOYSIS THROUGH NAB®  FRobucTIon)

4. alcoholic fermentation [CONVERSAON oF PYRLVIE T 2 CARBON CHPMPLND

THROUEH PRELEARY s of CO, THEN CONVERSION) OF 2 cARBIN  CopfouNT> TO

ETHYL Ncoriel ([ Abous PSRk CouMiuATIan 6F GLYCOLYNE THEOUGH PReducTion of W)
MULTIPLE CHOICE Write the correct letter in the blank.

— 1. Glycolysis takes place

@ in the cytosol. c. only if oxygen is present.
b. in the mitochondria. d. only if oxygen is absent.

—— 2, During glycolysis, glucose is

a. produced from two molecules of @partially broken down and some of its
pyruvic acid. stored energy is released.

b. converted into two molecules d. partially broken down and its stored
of ATP. energy is increased.

— 3. Both lactic acid fermentation and alcoholic fermentation produce

a. atwo-carbon molecule from a c. ATP from ADP and phosphate.
six-carbon molecule. NAD+ from NADH and H".
b. CO, from a three-carbon molecule.
__!._ 4. The efficiency of glycolysis is approximately
a. 0.2%. 2%. c. 20%. d. 200%.
— 5. The anaerobic pathways provide enough energy to meet all of the energy needs of
a. all organisms. @ many unicellular and some multi-
b. all unicellular and most multi- cellular organisms.
cellular organisms. d. no organisms.
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SHORT ANSWER Answer the questions in the space provided.

1. Why are the fermentation pathways referred to as “anaerobic” pathways? THEN _ HAPPEN

N THE ARSOUCE ofF O,

2. What are the energy-containing products of glycolysis? _NADYY ATP

3. Of what importance are lactic acid fermentation and alcoholic fermentation to the cells that use

these pathways? _THEY N-Low GLYCOLYSIS T CONTINWE Lyttt THE FEGENERNTION of

NADT

4. Critical Thinking The vitamis an essential component of NAD'. Niacin can be consumed
in food or manufactured in the body from tryptophan, an amino acid. How would a person'’s ability
to break down glucose through glycolysis be affected if the person’s diet were deficient in both

niacin and tryptophan? Explain your answer. _THIS WSDLD> TRrREST ToR Amunbhct af

NADY |,  HINDERING SWayns 3 NRDY 15 REQURED Fol GLYCOLYSIS

STRUCTURES AND FUNCTIONS The diagram below depicts the stages of fermentation.

Complete the diagram by writing the names of the pathways in the ovals and the names
of the molecules in the boxes.
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AEROBIC RESPIRATION

VOCABULARY REVIEW Define the following terms.

1. aerobic respiration BIoLOGICAL. PRIHWAN  PRODULLING NTP N THE PRES(NEE of

O%Y GEN

2. mitochondrial matrix _SYACE INSIDE THE INNER MITHCHOMDRIAL MEWBRANE — ALSD

THE SYTE of TME KREBS CycLe

3. Krebs cycle _PATHWAY BREACING DowN ACETYL Col To PRobuce Co; o HYDROGENS

TOMS (cmu\r:\}. BY NALH ad Fkb\-\q\) AND TP

4. FAD _CARRIER MOEULE Frodtn KREBS T ELECTRMAD TeanSeorT cHAN e-vc\)

MULTIPLE CHOICE Write the correct letter in the blank.

1. The breakdown product of glucose that diffuses into the mitochondrial matrix for further
breakdown is

a. acetyl CoA. pyruvic acid. c. oxaloacetic acid. d. citric acid.
—— 2. The starting substance of the Krebs cycle, which is regenerated at the end of the cycle, is
a. acetyl CoA. b. pyruvic acid. @ oxaloacetic acid. d. citric acid.
o
— 3. The Krebs cycle in £ \N_qo\b

produces two molecules of COZ,./ ore c. produces NAD" from NADH and H".
b. produces a six-carbon molecule from d. generates most of the ATP produced

six molecules of CO,. in aerobic respiration.
xo®
4. The electron transport chain of aerobic respiration _ psv et r*" V‘ﬁ
B B L L W
a. generates O, from H,0. v e W2 & W o o 114
b. produces NADH by chemiosmosis. ,b’«" ket AW-\' . . < ‘3 w,w’s\ N
c. pumps electrons into the mitochondrial matrix. s j .¢v"0 c\w"‘ p"? »

pumps protons into the space between the inner and outer mitochondrial membranes.

——— 5. The maximum efficiency of aerobic respiration is approximately

a. 0.39%. b. 3.9%. @39%. d. 390%.
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SHORT ANSWER Answer the questions in the space provided. " ,Lc-’b

(o

1. In the Krebs cycle, what molecule acquires most of the energy that is released by the oxidation”™
of acetyl CoA, and how many of these molecules are produced during each turn of the cycle?

NADH— 3 pec doen .., © pe~ ondecul of alutese.
\ 3 J

2. Which reactions of aerobic respiration occur in the inner mitochondrial membrane?

EXC.

3. Write the equation for the complete oxidation of glucose in aerobic respiration.

C‘GH\'LOQ -+ GOL'—_; GCO+ + GH,O + ATP

4. Critical Thinking How is the structure of a mitochondrion well adapted for the activities it

carries out? H‘ﬂ:\]?’ FQ‘M m/ M&amvv.. (C"‘C‘S‘\'M\_) Ma se\vni2es NPML AT .

More surface. outte.  wmesow tvere 51‘?'«.; fir £.TC. it vaant e NP,

STRUCTURES AND FUNCTIONS Use the diagram to answer the following questions.

The diagram below summarizes the electron transport chain and chemiosmosis in aerobic
respiration. Label the substances that are transported along the arrows labeled a—d in the spaces
provided. Label the reactants or products that are represented by e-g in the spaces provided.
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